H & 0l & AHS B Ml A

20233 = =0llah LB D= HEHS

FA JIFHEeNS )

M UXE & SIS
=2 Ol 2el X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

SHS M 62,353,415 41,859,596 20,493,819
= 29,623,642
[ 66,000
Il 100,000
== 9,258,472
Al 23,305,301

olUXIetE 2 SsHe 2,299,944 1,210,045 1,089,899
= 3,375
= 171,971
Al 2,124,598

ORI 2el XI& 2,299,944 1,210,045 1,089,899
= 3,375
[ 171,971
Al 2,124,598

FHANS JtAAE AHHEX 2S5 AL 20,000 25,000 A5,000
= 6,000
Al 14,000

403 MR SHHMSAH=01H 20,000 25,000 A5,000
= 6,000
Al 14,000

02 SISOt =2 A P E A I 20,000 25,000 5,000
OFSKHS IHAAE HEYX ESAE 20,000
= 6,000
Al 14,000

FHAAS UK SEHEHAIE 8,645 8,645 0
< 3,458
Al 5,187

402 QI2F X201 & 8,645 8,645 0
= 3,458
Al 5,187

03 2IZH2AETAI I 8,645 8,645 0
OFHAAE HHX SHEHAIS 8,645
= 3,458
Al 5,187

HIHXIZ S KI&AS 7,600 7,600 0
== 3,800
Al 3,800

201 2= 5,600 5,600 0
< 2,800
Al 2,800

01 At2teltl 5,600 5,600 0
O XIZESr XIFHA 5,600
= 2,800




2A:
X XH -
o e

=aak

JIZdstiis
O XIote 2 S5
O X 22l X2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,800
202 04| 2,000 2,000 0
== 1,000
Al 1,000
04 =XIS+01H] 2,000 2,000 0
O XIESF XIHA 2,000
& 1,000
Al 1,000
AITHAOIU X AFY =& 6,800 6,800
201 eet23| 5,000 5,000
01 AtR2t2|HI 5,000 5,000
OLITH AKX ArY =& 5,000
203 =4l 1,800 1,800
03 AT H R FZI| 1,800 1,800
OQTHHNH Xl AIZIHE & HR= 1,800
XIS & AL 8,000 8,000 0
201 el 8,000 8,000
03 A= &I 8,000 8,000
oIS & A 8,000
LPGEII ALt AIEIHE AL 8,251 6.000 2,251
= 3,375
< 1,013
Al 3,863
403 X SHHMSAH=01H 8,251 6,000 2,251
= 3,375
== 1,013
Al 3,863
02 S 2SS0t etk =2 & 2 E AL ] 8,251 6,000 2,251
OLPGEI| AMEItT A& ALY 8,251
= 3,375
=S 1,013
Al 3,863
Ol=E9l LPGHH 2t XIEAFE 600,000 600,000 0
402 212 X201 & 600,000 600,000
03 2IZHRAETALHHI 600,000 600,000
OCISHel LPGE2tY XI& 600,000
CH=E CADIA B3 857,700 0 857,700
= 157,700
Al 700,000
402 I2FX=01 & 857,700 0 857,700
= 157,700
Al 700,000




SN JIEREHS T
HE: HLXIOE o
Sl oIX 22l K

CER-E)
SA - BB o931 ol ke A HimE=T
02 QIZEXHE A B (0 857,700 0 857,700
OH=s=E TAIJIA B3 857,700
& 157,700
Al 700,000
OIUXIME 2 557,948 548,000 9,948
307 gI2tol ™ 557,948 548,000 9,948
05 QIZtRIErZ 557,948 548,000 9,948
OUXIdH 2 557,948
KSEX S48 | 175,000 175,000
308 KXISHMSOIH 175,000 175,000
11 3I12SolterE 175,000 175,000
OXYUUHX 2 A At X
AEE) 175,000
MIUXI=O0IH 3&al 2| 50,000 50,000
401 Al HIZL S008I 50,000 50,000
01 AlEHI 50,000 50,000
OUUXI=0I &4 al 50,000
CHO L&A 57,709,159 37,597,823 20,111,336
= 29,620,267
s 66,000
| 100,000
L= 9,086,501
Al 18,836,391
JIZHSE S 380,000 1,397,000 21,017,000
| 100,000
Al 280,000
JIZHst U2 AlY =& 40,000 40,000 0
201 L2 | 40,000 40,000
01 Ar22eltl 40,000 40,000
OJI=83 e MY =& 40,000
EAasSg Y J|FHe R =& 20,000 27,000 27,000
201 L2 | 20,000 27,000 A7,000
01 At 22|l 20,000 20,000 0
OEA~ZE % JIZHI 20,000
2050EtASE S fIBH 440 100,000 50,000 50,000
201 23| 100,000 50,000 50,000
01 ArR222ltl 100,000 50,000 50,000
ous =5 7¥
s F=a 50,000
oOogol I, &
UESE WE 50,000
Ogl0l =8 BASE T2 2Y 10,000 10,000
307 QI2tol 10,000 10,000 0




2A:

JIZHsttisw

M (POI2ELX
oels Jl=Hal S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 10,000 10,000 0
O0glol St=8 EASE ISZZOH 2
o 0,000
BAZE o8 Mg X220 =29 10,000 10,000
307 @120l & 10,000 10,000
02 QI AAEE X 10,000 10,000
OEAZE 8 HE X228 29 10,000
BASEXNAMEH 28 X 200,000 0 200,000
7l 100,000
Al 100,000
308 XtXIEMSO0IH 200,000 0 200,000
Il 100,000
Al 100,000
11 SIS0t oA AS A 200,000 0 200,000
OEASEAAME 28 X& 200,000
Jl 100,000
Al 100,000
to1Lg ogt2el 56,645,359 34,966,123 21,679,236
= 29,338,267
= 9,030,101
Al 18,276,991
leg s8¢ 29 205,336 169,402 35,934
= 61,600
Al 143,736
201 fet=3| 205,336 169,402 35,934
== 61,600
Al 143,736
02 35244l 205,336 169,402 35,934
ouJey =3% 29 205,336
< 61,600
Al 143,736
AXHH o1eEEdS X - 29 40,000 150,000 A110,000
= 20,000
< 10,000
Al 10,000
401 Al HIZL 01| 40,000 150,000 110,000
= 20,000
== 10,000
Al 10,000
01 Al&HI 40,000 150,000 A110,000
OXTHH 2E=dY 4Xl - 2 40,000
= 20,000
=S 10,000




2A:

X XH -
o=

JIZHsttisw
1R

Celr I2g olgr2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 10,000
oILE daE FXl2el 34,000 26,000 8,000
201 et 3| 34,000 26,000 8,000
02 S3=gHl 34,000 26,000 8,000
ox&E AL 24,000
oXZE M| - SHRS 10,000
HHOA S AYH X 174,600 180,000 25,400
= 102,000
< 30,600
Al 42,000
402 QI2F X201 & 174,600 180,000 25,400
= 102,000
== 30,600
Al 42,000
02 RIINEASEZ(0IETHR) 174,600 180,000 25,400
OHSHIIAIIEY FUH X 174,600
= 102,000
= 30,600
Al 42,000
HOMATE HgHl 22X 19,000 30,000 211,000
= 9,500
S 2,850
Al 6,650
402 2I2F X201 & 19,000 30,000 211,000
= 9,500
= 2,850
Al 6,650
02 QI X2 AL E R (0IETHE) 19,000 30,000 211,000
OHAINAIIE HEH| X 19,000
= 9,500
= 2,850
Al 6,650
HIIXS K 700 KR (S3) 950,000 1,088,000 /138,000
= 190,000
Al 760,000
405 AtaHE = 950,000 1,088,000 138,000
= 190,000
Al 760,000
01 Tt =S F=HI 950,000 1,088,000 138,000
OISt 204 X&(S3) 950,000
= 190,000
Al 760,000
HIISEX 700 KR (22) 26,000,000 10,280,000 15,720,000




2A:
PSER
o e

el

JIZHsttisw
1R
o128 olgt2tel

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

Mo

=

10,000,000
4,800,000
11,200,000

402 2I2FXH=201&

Mo

=

26,000,000
10,000,000

4,800,000
11,200,000

10,280,000

15,720,000

02 RIENZASE X (01 THR)

OFIIXSXE 7200 K& (2124)

hoH

=

26,000,000
26,000,000
10,000,000

4,800,000
11,200,000

10,280,000

15,720,000

HARI IS IOtA M2ZPALY

A0

o

=

12,443,145
7,316,250
2,126,8%
3,000,000

12,344,800

98,345

hoH

=

12,443,145
7,316,250
2,126,8%
3,000,000

12,344,800

98,345

02
©

e

XA S (01X TN )

HARI BHEIA M2 ALY

H0

Mo

=

12,443,145
12,443,145
7,316,250
2,126,8%
3,000,000

12,344,800

98,345

Mo

=

36,035
18,017

5,406
12,612

17,671

18,364

402 SI2EXH201 S

Mo

=

36,035
18,017

5,406
12,612

17,671

18,364

Mo

36,035
36,035
18,017

5,406
12,612

17,671

18,364

SpIPN;

18,243

12,000

6,243

no | o
T |
il
e
of
[al
S
Ho
0R

N
(e
=

18,243

12,000

6,243

r
M0 | MO

©
m 0

S
8!
N[

18,243
18,243

12,000

6,243

480,000

280,000

200,000




2A:
X XH -
o e

=aak

JIZHsttisw
1R
o128 olgt2tel

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 240,000
Al 240,000

402 QIF X201 & 480,000 280,000 200,000
= 240,000
Al 240,000

02 QI A2 AL E R (0IHTHE) 480,000 280,000 200,000
OTEII0IEXt 200 XI&(2124) 480,000
= 240,000
Al 240,000

HIIZEI| 700 KA (2124) 100,000 60,000 40,000
= 50,000
= 15,000
Al 35,000

402 2IZtA=01d 100,000 60,000 40,000
= 50,000
= 15,000
Al 35,000

02 QI A2 AL E R (0IETHR) 100,000 60,000 40,000
O™IIZFI| F0H KA(212h) 100,000
= 50,000
& 15,000
Al 35,000

HI1st2 R 700 R (212) 15,760,000 7,940,000 7,820,000
= 11,200,000
< 1,920,000
Al 2,640,000

402 QI2F X201 & 16,760,000 7,940,000 7,820,000
= 11,200,000
== 1,920,000
Al 2,640,000

02 QI TH2AILEE (01X THE) 15,760,000 7,940,000 7,820,000
O™IIst2 R 700 KA (212 15,760,000
= 11,200,000
=S 1,920,000
Al 2,640,000

O12l0| SEXAtEF LPGAE ek XI& 385,000 568,250 173,250
= 192,500
=S 57,750
Al 134,750

402 2I2F X201 & 385,000 568,250 173,250
= 192,500
= 57,750
Al 134,750




2A:

X XH -
o=

JIZHsttisw
1R

Celr I2g olgr2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 385,000 558,250 A173,250
OO0Iel0 SSIRtE LPGRH Met X 385,000
= 192,500
< 57,750
Al 134,750
OIMEIX M2 & 2el 683,800 1,234,700 550,900
= 282,000
[ 66,000
= 56,400
Al 279,400
OIMEX Mz g2 =& 26,800 27,700 2900
201 fer= 3| 25,000 25,000 0
01 AtR2te|HI 25,000 25,000 0
OUINEX S us -82 85 2 25 =
= M 15,000
OzletE M3l NSIH AEIFH ME - S 5,000
OXJIHIXt Xt JIE0tH At 5,000
203 HR=4AH] 1,800 2,700 2900
03 A= PR FA| 1,800 2,700 A900
OUIMZHAl M2 THE e & g% =8 1,800
T2 0NN 2MEERE 2 35,000 35,000
201 et 3| 35,000 35,000
02 s3=gbl 35,000 356,000
O=Z DINEX 2dELXE =2 35,000
IHEE MsA22d XX A 470,000 420,000 50,000
= 282,000
== 56,400
Al 131,600
402 2I2FX=201H 470,000 420,000 50,000
= 282,000
= 56,400
Al 131,600
02 RIENZASEZ(0IETHR) 470,000 420,000 50,000
OJEE MN=A222 EXIX2ASE 470,000
= 282,000
= 56,400
Al 131,600
OIMIZHA M2At X3 & SYilE 253 =29 132,000 132,000 0
[ 66,000
Al 66,000
101 e124d| 110,000 110,000 0
= 55,000
Al 55,000




2A:

X XH -
o=

JIZHsttisw
1R

el DIMEIX M & 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 110,000 110,000 0
OJIZtHl 22X 2= 110,000
= 55,000
Al 55,000
201 fer= 3| 22,000 22,000 0
[ 11,000
Al 11,000
01 AtR2te|Hl 18,000 22,000 24,000
Ou=tl, 2 =25 728 S 18,000
[ 9,000
Al 9,000
2 s5=4g4l 4,000 0 4,000
Oxtg 7FHl, 228 FUE SRS S 4,000
= 2,000
Al 2,000
BIEtA 5SS XtE SdAMSH HSAIAE 22 20,000 20,000
201 fer= 3| 20,000 20,000
02 S3=gHl 20,000 20,000
O2dHNe HEAMAE S22 20,000
A 2HAHI(JIFHSHS D 44,312 51,728 AT,416
JI23HIOIZHEE ) 44,312 51,728 AT,416
J12dHI(OIZHEHEDn) 44,312 51,728 NT,416
201 eer23y| 26,024 28,968 N2,944
01 AtR2t2lHI 26,024 28,968 A2,944
Odgt+=H| 13,600
©F=E ] 11,424
o=2g+d 1,000
202 04| 14,688 19,160 N4, 472
01 =LHA LI 14,688 19,160 N4 A72
OJ|2HRF=T0YI 14,688
203 HF=AH] 3,600 3,600
MU FAZSLIFAI 3,600 3,600
OFANEgE =AY 300,000 * 122 3,600
HRasOIFHEaHS) 2,300,000 3,000,000 A700,000
HEHAHXIE(OIZ=HSIHS D) 2,300,000 3,000,000 A700,000
HUHXIAIE IS XI& 2,300,000 3,000,000 A700,000
(VAP TSE= 2,300,000 3,000,000 A700,000
01 IIsd8ES 2,300,000 3,000,000 A700,000
OUHXNAIE IS XI& 2,300,000




